Tinh phan tram céc s
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Tén:_ Ngaythang:_ Piém:__
100 x 40% = 23 x 60% =
15 x 60% = 78 x 80% =
7% 20% = 30 x 20% =
31 x 50% = 65 x 60% =
24 x 40% = 40 x 70% =
52 x 50% = 29 x 80% =
94 x 20% = 60 x 70% =
89 x 60% = 83 x 10% =
98 x 50% = 38 x 30% =
37 x 10% = 22 x 80% =
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Tinh phan tram céc s

Tén:

100 x 40% = 40

15 % 60% =9

7x20% = 1.4

31 x50% = 15.5

24 x40% = 9.6

52 x50% = 26

94 x 20% = 18.8

89 x 60% = 53.4

98 x 50% = 49

37 x10% = 3.7
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Ngay thang:

23 x 60% = 13.8

78 x 80% = 62.4

30 x20% = 6

65 x 60% = 39

40 x 70% = 28

29 x 80% = 23.2

60 x 70% = 42

83 x 10% = 8.3

38 x30% =114

22 x80% = 17.6

www.snowmath.com

Piém:
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